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Note: Answer All questions. All questions carry equal marks.

1 a) If log x = log 3 + 2 log 4 -
4
3 log 16, then find the value of x.

b) If cos θ =
13
5 ; 0 < θ <

2
 , then find the value of

θcos-θcosec
θcot5θcos  .

OR

c) If 0 ≤ θ ≤
2
 be such that tan θ =

12
5 then find

θtanθsec-θcosec
θcot-θcosθsin


 .

d) If a = 12
24log , b = 24

36log and c = 36
48log , then show that abc = -1.

2 a) Find 55ax ax
a)(xsinlt





.

b) If u = x2y3, x = log t, y = et then find
dt
du in terms of t.

OR

c) If u = sin-1 ,
yx

yx














then prove that x
dx
du + y

dy
du =

2
1 tan u.

d) Find 20θ θ
θcos1lt 


.

3 a) Find   dx
3sinx2
1 .

b) Evaluate dx xsinxcos3 .
OR

c) Evaluate dx.
 xcos1

 xtan
2 

d) Show that the area of a loop of the curve x4 = a2 (x2 – y2) is .
3

2a2

…2.
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4 a) Find the values of the determinant
2bacac

b2acbc
ba2cb1





.

b) Solve the system of equation’s x+y+z = 1, x+2y+2z = 3, x+2y+3z = 4 by matrix
inversion method.

OR

c) Find the value of x if
x453

5x43
33x2





= 0.

d) Define symmetric and show symmetric matrix.

If A =





















213
132

321
and B =

















021
210
201

find BA.

5 a) Write about linear and non-linear graphs.

OR
b) Find the equation of a circle passing through the points (2,3), (0,4) and (5,6).
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